L12

1. ‘O s 3% (both-permissible), in which each one is permissible and
that is when the ‘Jsle’ gives ‘cua¥’ to two pronouns as its objects, the first of

which is known more than the second.

Example: s kel sl / d8Gdae | sl
Or when the second pronoun is accusative by ‘U\S” and its family. In this case

the second pronoun can be apart or connected.

Example: o) &S guaall — 43S 3l

2. Csiladll e LB 0

‘48 ll o & (protective Nun) is a ‘<’ (inflexible) letter with Kasra which
comes after some ‘Jsle’s (effecters) when they come on the first person s’
to prevent confusion between the words.

It is used in two ways:

A) ‘caly’ (necessary), that is when the ‘dele’ of ‘s’ is a verb or a verb-
noun or ‘<, <o, <08, ‘ol <o and L¥,

Example: “533 &l o33 1 4058 (25 06 35 (When Moses said to his people,

‘O my people! Why do you torment me...)

Example: “U) 5 &€ il G 880 65 015 CaS L ¢ all Hals 2537 (the day when a
P . ¢ y
person will observe what his hands have sent ahead and the faithless one will

say, ‘I wish I were dust!”)



B) ¢ 3%’ (permissible), and that is when it is preceded by &’ &P, <GS,
‘& and Uav.

Example; “dl Ul

Example: “ailua 3 I Eiilh

Note:

When ‘4650 o5 gets together with the ‘¢’ of plural feminine or of emphasis,
they cannot merge (ale2)).

Example: “adl 55 Ge JI) &l 450 &5 08

Example: “4y 508 4 5 852 o585 a2

And when it gets together with the ‘¢’ in the five-verbs (the present tense
verbs which have ‘0’ except seeghah 6 & 12), it is permissible to merge, to
part or to omit one of them.

Example: “ . sty 1,385 i sialail 2581 &)

Example: “Gsialall @ 821 570 & il o






